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6.5~ Optimization Problems 11- Exploring Solut

Keep in Mind:

®  The value of the objective function for a system of linear inequalities varies throughouwt
the feasible region. but m a predictable way. > Coners”
The boundary infersection points are the vert m(hr Teasible region
These V&iGes represent the optimal solutions for the objective finction
Fa veriex is not pant of the solution set, then the optimal solution may be found nearby
l'e venfy an optimal salution, substitute its coordinates inte cach mequality in the svstem
aind evaluate
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Tunctions?
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Example. Katly and Ravi volunteer at the local food bank each weekend. Kathy can work no
more than 10 hours per weekend. Ravi can work no more than 12 hours per weekend. The food /\

bank can assign both of them for 18 hours or less per weekend. Kathy can fill 10 boxes with food = —\ 2
in 1 hour, while Ravi can fill 12 boxes per hour, The food bank wanis to maximize the number of

boxes filled i one weekend by these two volunicers.
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Write out inerualities using these variables
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Example. A BC farmer wants to plant a combination of apple and pear trees that will maximize
revenue.

She wants to plant no more than S00 trees altogether.

She wants to plant at least four times as many apple as pear trees

The yield per apple trec is 4 bushels, and the yield per pear tree is 3 bushels.

Apples pay the farmer $8.75 per bushel and pears pay 9.50 per bushel.
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